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Question Number : 1 Question Id : 16794318167 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
IfC =3, CAN = 18, then COMPUTER. =?

Options:
1 % 101

> % 110

5 o 11

i% 121

Question Number : 1 Question Id : 16794318167 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
afe C = 3, CAN = 18, g8 COMPUTER =?

Options:

% 101
-, % 110
2 @ 111

4% 121

Question Number : 2 Question Id : 16794318168 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Athletics’ is related to *Stadium’ in the same way as “Skating’ is related to:

Options:
1 % Pitch

2 « Rink



z % Court

4 % Ground

Question Number : 2 Question Id : 16794318168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

léﬁ?

2.v"ﬁ$

Question Number : 3 Question Id : 16794318169 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If L stands for addition. M stands for subtraction, N stands for multiplication. then what is the value of
(IONSLMAN4)ME?

Options:

0

i) -t
b -
LM LA
o

L
$<
L
SO

4.« 60

Question Number : 3 Question Id : 16794318169 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ifg L S8 & 9k, M g2 1 9k, N [0 & 9k ¢, a9 (10 N 5) L (4 N 4) M 6 & 74
FIT EE?

Options:

1 ® 50

> R 56



ST ] 59

4 ¢ 60

Question Number : 4 Question Id : 16794318170 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following words will come third in an English dictionary?

Options:
, « Holiday

- % Horse

- u Hobby

4 % Hobble

Question Number : 4 Question Id : 16794318170 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| « Holiday

> # Horse

5 » Hobby

4 #% Hobble

Question Number : 5 Question Id : 16794318171 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Vijay is brother of Raju. Rekha is sister of Abi. Raju is son of Rekha. How is Rekha related to Vijay?

Options:
1 ® Aunt

> % Sister

3 « Mother



4 % Mother-in-law

Question Number : 5 Question Id : 16794318171 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1ww

2 % T

Mo

3 & HI

4ww

Question Number : 6 Question Id : 16794318172 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the missing number in the below series:

0, 7. 26, 63, 124, 215, a1l

Options:
1 % 341

Question Number : 6 Question Id : 16794318172 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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0, 7, 26, 63, 124, 215, - 211
Options:

1 % 341

o o 342



2 % 343

L % 334

Question Number : 7 Question Id : 16794318173 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
You are given two statements and two conclusions. Choose the correct option about conclusion from the options below.

Statements:

All good players win.
All good players eat well.

Conclusions:

I. All those who eat well are good players.
II. All those who win eat well.

Options:

; = Only conclusion I follows

» = Only conclusion II follows

= % Either conclusion I or II follows

4 + Neither conclusion I nor IT follows

Question Number : 7 Question Id : 16794318173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 8 Question Id : 16794318174 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What will be the difference between the sum of the odd digits and the sum of the even digits in the number 7458327
Options:

1.+ 1

P
g{
| ]

Ll
®
(%

Question Number : 8 Question Id : 16794318174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

745832 T&OT H WA 370 & IT TAUT GH IR & T H FAT 3T g2

Options:

1.« 1

Question Number : 9 Question Id : 16794318175 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In a village X, 40% of the adults are illiterate while 85% of the children are literate. If the ratio of the adults to that of
the children is 2 : 3. then what percent of the population is literate?

Options:

| ® 55%



Question Number : 9 Question Id : 16794318175 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TE T X H, 40% TaFH AR § s 85% T WEW g1 IR IuEH & 34 g § Iequd 2 0 3
2, o= o gfoRE S=aEa g 22

Options:

| % 55%

., » 60%
-« 75%

4 % 80%

Question Number : 10 Question Id : 16794318176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A is the son of B while B and C are the sisters of each other. D is the mother of C. If E is the son of D. which of the
following statements is correct?

Options:
1 « E is the maternal uncle of A

- #% D is the brother of B
= % B andE are sisters

4 = Cisthe grandfather of A

Question Number : 10 Question Id : 16794318176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 11 Question Id : 16794318177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Kavva is facing south. She turns 140° in the anti-clockwise direction and then 175° in the clockwise direction. Which
direction is she facing now?

Options:
1 % South-east

> o South-west
= % North-gast

4 % North-west

Question Number : 11 Question Id : 16794318177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. o EEuT-aiEs

. x FoH

4 ® Scai-aTeaH

Question Number : 12 Question Id : 16794318178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the Asian games, the flags of six countries were flown on the masts in the following way.

The flag of China was to the left of Indian tricolor and to the right of the flag of Japan. The flag of Sri Lanka was on the
right of the Indian flag but was to the left of the flag of Pakistan, which was to the left of the flag of Bangladesh. Which
two flags were at the centre?

Options:
1 + India and Sri Lanka

- % China and India
z % China and Sri Lanka

4 % Pakistan and Sri Lanka

Question Number : 12 Question Id : 16794318178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 13 Question Id : 16794318179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Five students took part in a running race. Akbar finished before Manish but behind Ganesh. Ragul finished before
Sanjay but behind Manish. Who won the race?

Options:
1 « Ganesh

> % Akbar

5 » Ragul



4 % Manish

Question Number : 13 Question Id : 16794318179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

|« TTOTT

4 % HAS

Question Number : 14 Question Id : 16794318180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the correct option that will complete the below series:

C

Options:

oo

@@DD



Question Number : 14 Question Id : 16794318180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 15 Question Id : 16794318181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
You are given a question and two statements I and II. You have to decide whether the data provided in the statements is
sufficient to answer the question.

Question: How much was the total sale of the company?

Statements:
L. The company sold 10000 units of Product A each costing < 34.
II. The company has no other product line.

Options:



, w Datain statement I alone is sufficient to answer the question

- » Data in statement II alone is sufficient to answer the question

- » Data in either the statement I or statement II alone is sufficient to answer the question

4 « Datain both statements I and II together are necessary to answer the question

Question Number : 15 Question Id : 16794318181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 16 Question Id : 16794318182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Four different positions of a dice are given below. Which number is on the face opposite the face showing *9*?

b2
o
o =N
b2

3 2 8 4

Options:
1 ® 4



3¢ 7

| ]

Question Number : 16 Question Id : 16794318182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1 ® 4

Question Number : 17 Question Id : 16794318183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
While travelling in a train, you notice a lady from the coach behind yours fall off the train. What should be your best
logical course of action?

Options:
; = Jump off the train to assist the falling lady.

-  Pull the alarm chain so that the train may stop and the lady may be helped.

- » wait till the train stops at the next station and inform the railway authorities there.

4 = Shout at the falling lady asking her to get up quickly and entrain.

Question Number : 17 Question Id : 16794318183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 18 Question Id : 16794318184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the odd one out of the below.
Options:

, « Knowledge

> % Read
- % Write

4 % Learn

Question Number : 18 Question Id : 16794318184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1 Sild

Question Number : 19 Question Id : 16794318185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Read the following information carefully and answer the question given below.

Ruba is shorter than Beena but taller than Kiruba.
Neema is shorter than Kiruba.

Jaisree is taller than Neema.

Beena is taller than Jaisree.

‘Who among them is the shortest?
Options:
1 % Jaisree

- % DBeena
=z % Ruba

4 « Neema

Question Number : 19 Question Id : 16794318185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 20 Question Id : 16794318186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



What is the number of straight lines in the following figure?

Options:
1 ® 10

2. 12

Question Number : 20 Question Id : 16794318186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 10
2 o 12
T W 16

g #® 24

Gereral Awarerness

Group Number : 2
Group Id: 167943675
Group Maximum Duration : 0



Group Minimum Duration : 0

Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awareress

Section Id : 167943740

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section | d: 1679431154
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 16794318187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
For which of the following purpose 74™ amendment was passed to establish

Options:
, = Panchayats and provides elections for them

-  Muncipalities and provides elections for them

- » Zilaparishad and provides elections for them

4 # Gramsabha and provides elections for them

Question Number : 21 Question Id : 16794318187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 22 Question Id : 16794318188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The original Constitution contained articles and schedules.

Options:
. % 390,10

392. 8

Question Number : 22 Question Id : 16794318188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e dfFu= & 3T=og AR ST QMfAe

Options:

. % 390, 10

5 392, 8

. = 395, 10

. v 395, 8

Question Number : 23 Question Id : 16794318189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Vice-President shall be elected by and electoral college consisting of the members of:

Options:
, = Rajya Sabha



5 of Rajva Sabha and Lok Sabha

- » Lok Sabha and Legislative Assembly

4 = Lok Sabha, Legislative Assembly and Legislative Council

Question Number : 23 Question Id : 16794318189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 24 Question Id : 16794318190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following was not a Dynasties of South India?
Options:

1 % Satvahanas

-  Haryanka

- % Vakatakas

4 = Chalukyas

Question Number : 24 Question Id : 16794318190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 25 Question Id : 16794318191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What was the ruling period of The Tughlaqgs?

Options:
1 % 1320- 1417
> % 1310-1412

s % 1315-1417

4 « 1320-1413/1414

Question Number : 25 Question Id : 16794318191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
qFTeTeh T ATHF HATS e U Ha o A7

Options:
% 1320 - 1417
. % 1310 - 1412
2 % 1315 - 1417
4 v 1320 - 1413/1414

Question Number : 26 Question Id : 16794318192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tattvabodhini Sabha, which was one of the key organization of Social reform movement in 19th century was founded by:

Options:
1 % Keshab Chandra Sen

-  Debendranath Tagore



- » RajaRadhakant Deb

4 = Ishwar Chandra Vidyasagar

Question Number : 26 Question Id : 16794318192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 27 Question Id : 16794318193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the literacy rate of Sikkim?

Options:
1« 81.4%
> % 82.3%

5 % 80.1%

4 % 82.7%

Question Number : 27 Question Id : 16794318193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
afFem & TaRar & =7 877
Options:

. & 81.4%

> % 82.3%

- % 80.1%



L % 82.7%

Question Number : 28 Question Id : 16794318194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Karnali river is known as in the Ganga Plain.

Options:
1 % Sharda

-  Ghagra

2 % Ramganga

4 % Gandak

Question Number : 28 Question Id : 16794318194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 % A

=z B JTHAT?

Question Number : 29 Question Id : 16794318195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Kanchanjunga comes under which of the following physiographic divisions of Himalaya?
Options:

, = Trans Himalayas

-  Greater Himalayas

- # Lesser Himalayas

4 = Outer Himalayas



Question Number : 29 Question Id : 16794318195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 30 Question Id : 16794318196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
is an artificial sweetener.

Options:
Nyein

1.9
5 ® Beta - Carotene

5  Aspartame

4 % Lutein

Question Number : 30 Question Id : 16794318196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 31 Question Id : 16794318197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Who is considered as the ‘Milkman of India’?
Options:

1 % DrM.S Swaminathan

-  Dr Varghese Kurien

=z % Dr Arun Krishnan

4 # DrDurgesh Patel

Question Number : 31 Question Id : 16794318197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Options:

, % F THUTH TEEETYE

, & T FhREa

2)
g ® HSHEOL P

g a'r”?hrq%?rr

4,

Question Number : 32 Question Id : 16794318198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
While dragging or lifting an object. negative work is done by

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

, The applied force

» Gravitational force
= Reaction force

4 Frictional force



Question Number : 32 Question Id : 16794318198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

HTealae TS IT 33 & SR, HUNcHS &3 garT & ST g

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

FI'I?]'\ CE)

1

> = "
5 FiAatshdr el
4 TYUT g

Question Number : 33 Question Id : 16794318199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
With regard to the Net Domestic Product (NDP) which of the following statements is correct?

1. NDP is the GDP calculated after adjusting the weight of the value of depreciation.
2. NDP =GDP+ GNP - Depreciation
Options:

, « 1only

> % 2only

. 1and 2 both
3 ®

4 = None of the given options

Question Number : 33 Question Id : 16794318199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

IME WA 309 (AT SAEF dizae) & 9y # e & @ 79 &1 Fa7 7 272

1. FoOeTd & Hed & I ! HANLIAT & & a6 Iiaiod NDP, GDP gt gl
2. NDP =GDP+GNP-W

Options:



1‘;"%?‘{1
o % 1 3R 2 a=r

, » [&T T fwedt F § #ig ofr JAE

Question Number : 34 Question Id : 16794318200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does the CPI-RL Stands for:
Options:
; = Consumer Price Index for the Regional Labourers

> o Consumer Price Index for the Rural Labourers
- % Consumer Price Index for the Rented Labourers

4 % Consumer Price Index for the Remote Labourers

Question Number : 34 Question Id : 16794318200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Hrfi3me-3Rea (CPI-RL) % T &= #1F & &

Options:

HIAT T $3FH R g Joiaddl oad

1 =

zfm\mmé%w TR & T 90

. LA UEH F3HH GR g L& A5W

HegAT IIFH $3FH B g AR o&y

4 %

Question Number : 35 Question Id : 16794318201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘What is the Minimum support price of Jowar (Maldandi) in 2018-2019 season?

Options:



R 2470

4 % 2480

Question Number : 35 Question Id : 16794318201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2018-2019 ¥ H FER (ATSS) F w4dH THYS Hed FT 87

Options:

% T 2430

. » T 2450
2 % T 2470

. % T 2480

Question Number : 36 Question Id : 16794318202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“Tamasha” 1s a folk dance of which of the following states?

Options:
1 +« Maharashtra

- % Bihar
% % Uttar Pradesh

4 #% Jharkhand

Question Number : 36 Question Id : 16794318202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
"amrRn mfaf@a & & fFe T @1 e goa 87

Options:

| v TR




Question Number : 37 Question Id : 16794318203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the acronym of NCBC?

Options:
1 # National Committee for Backward Classes

» National Committee for Socially Backward Classes
. National Commission for Socially Backward Classes

4 « National Commission for Backward Classes.

Question Number : 37 Question Id : 16794318203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
UA.HL AL TR ATH FA @R
Options:

| % TUAT HIHA PR SHIs FoTHH

- % AUAT FHCT BR TITeT Shas Fedd
5 % SRS FHRNT PR AT SHds ForEd

4 v FUAT FHIUT BT JHIE FAHT

Question Number : 38 Question Id : 16794318204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following leaders has represented India in BRICS summit held in July, 2018.
Options:

, = Sushma Swaraj



5 w Arun Jaitely

= « Narendra Modi

4 = Rajnath Singh

Question Number : 38 Question Id : 16794318204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TS, 2018 # 3T Bew frer wree # Feafofaa 7 & 5 aant & ana # sl
fasar &1

Options:

L

o #% 3TUT Aol
v 75 A

4 x TotelT™ faE

Question Number : 39 Question Id : 16794318205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Akshay Venkatesh is associated with which of the following fields?
Options:

, = Astronomy
-~ % Science

3 « Mathematics

4 % Sports

Question Number : 39 Question Id : 16794318205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

37T dey e # ¥ g &89 @ mEfig B2
Options:

| % G AT



Question Number : 40 Question Id : 16794318206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

Hima Das has clinched the women’s

Options:
; ® 100m

5 % 200m
s % 300m

4 « 400m

gold at the world under 20 Athletics championship.

Question Number : 40 Question Id : 16794318206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

& gre 7 20 veeifeew AR & gga gfaar 7 Afgenst &

Options:

. % 100 m
, % 200 m
- » 300 m

4 v 400 m

Arithimetic Ability

Group Number : 3

Group Id : 167943676
Group Maximum Duration : 0

Group Minimum Duration : 0

Revisit allowed for view? : No

Revisit allowed for edit? : No

Break time: 0

Group Marks: 20

Revisit allowed for group Instructions? : Yes

T 9gs A g



Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Ability

Section Id : 167943741

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 19

Number of Questionsto be attempted: 19

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section | d: 1679431155
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 16794318207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
(269+831)° +(269-831)*
(2.69)2+(8.31)2

The value of is equal to:

Options:
1 ® 2000
> % 4000

5 « 20000

4 % 40000

Question Number : 41 Question Id : 16794318207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
269+831% +(269—8317)°
¢ i L T AT SO N &

(2.69)2+(2.31)2

Options:

| % 2000
o % 4000

2 « 20000



. % 40000

Question Number : 42 Question Id : 16794318208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The digit in the units place of (34)° + (46)** — (43)*7 is
Options:

1.¢ 3

2.5’34

Ll
b
LAy

Question Number : 42 Question Id : 16794318208 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

(34)° + (46)*! — (43)*7 H soE TIF H 3% ¢
Options:

1 ¢ 3

Question Number : 43 Question Id : 16794318209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the sum of digits of the least number which should be subtracted from 13896 to make it a perfect cube?

Options:



Question Number : 43 Question Id : 16794318209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

3W FOACGH WA & e @ TR F47 g, O 90T U & & o 13896 F ¥ wErm =T =Rw?
Options:

1_-5&8

>« 9
3@310

g ® 12

Question Number : 44 Question Id : 16794318210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The value of 0.4 + 0.59 — 0.423 is equal to:

Options:
> % 1.467

4 ® 05%

Question Number : 44 Question Id : 16794318210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

0.2 +0.59 — 0.423 =T A SHS & ¢
Options:

. u 1467

, « 0586

Question Number : 45 Question Id : 16794318211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
The HCF of two numbers is 18 and their product is §748. What is their reciprocal?

Options:
14

2

28

27

Question Number : 45 Question Id : 16794318211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ar el T AgeadH HHGEAS 18 § AR 3T UG 8748 Fl 3AF HH FT 87

Options:

14
| & 243

2

28

27

Question Number : 46 Question Id : 16794318212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The average weight of 42 boys of a class is 48 kg and the average weight of girls of same class is 44 kg. If average
weight of whole class is 46.1 kg, what is the total number of students in the class?

Options:

1 ® 75

- ® 78



E.JSD

Question Number : 46 Question Id : 16794318212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U FeT H 42 =6 F 38T 9997 48 e § 3 07 = fr s=faT = 3i|g 399 44 SeEnH
g1 afE o w1 iea T9a 46.1 TFeens § A FET F o T Fo TEdr F4 §?

Options:

1 * ?5
o & ?8
=« 80

g ® 85

Question Number : 47 Question Id : 16794318213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

< 19440 is divided among A, B and C such that 4 times share of A is equal to 6 times share of B and also equal to 3
times share of C. How much did B get?

Options:
L« T 4320

> % T 6480
s % T 7560

4 % T 8640

Question Number : 47 Question Id : 16794318213 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1440 FITMA BIRCAmag a Ria i e & A 71 4 7 Gz B % 6 7= feewr
& T g AR C & 3 I FEA F ofr =< g1 B F Tvegew A2

Options:

@ T 4320

., % T 6480



- % T 7560

. # T 8640

Question Number : 48 Question Id : 16794318214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The difference between mean proportion and third proportion of i and z 18
Options:
189
64

Question Number : 48 Question Id : 16794318214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
i a-f’l'{% & AT FARTT AR JAT TAREE F & IR &

Options:
189

14
b
o

Question Number : 49 Question Id : 16794318215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

Neha gave 25% of the money she had to Rita. Rita spent 30% of the money received on school fee, 45% on buying
books. If she is left with ¥ 1240, how much money Neha had initially?

Options:
1 % 18340

> % T 18560
2 % 19720

4 « 19840

Question Number : 49 Question Id : 16794318215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Aer & far F A 256% THA & AT F 9o &H F 30% Fher BE 9 HIT 46% A farar
giles I @Y BT 3T 3T 9T 31240 §94T g, o 9T H AgT & O Faar H o

Options:

. % T 18340

., » T 18560
- » T 19720

4 « < 19840

Question Number : 50 Question Id : 16794318216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
By selling 30 articles, a person gains selling price of 5 articles. What is his gain percent?

Options:
1« 20%

?%

100



Question Number : 50 Question Id : 16794318216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

30 IFIT F= T TF hiad H 5 aEI3T F fhr Hea T omeT g g1 3R @t gfdRa #2ar g2
Options:

¢ 20%

50

Question Number : 51 Question Id : 16794318217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The marked price an article is T 12400. It is sold at successive discounts of 25% and x%. If the selling price of the
article is ¥ 8184, what is the value of x?

Options:

Question Number : 51 Question Id : 16794318217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

UE TE] T AT HeT T 12400 §1 38 25% HR X% & FH g W I 4w 81 ofg a5 & B
HeT T 8184 § o x &1 A & 872

Options:

1 = 8%
o % 10%
2« 12%

L = 15%



Question Number : 52 Question Id : 16794318218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The difference between compound interest and simple interest on T 6400 for 2 years is T 36. What is the rate of interest
per annum?
Options:

e 70

Question Number : 52 Question Id : 16794318218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2 ¥ ¥ 3T T 6400 W TFgfE == 3R TR 1 F &1 HoR T 36 31 9T a9 =00 X & &2

Options:

1 = 7%
5 & 7.5%
ST ] 8%

. % 85%

Question Number : 53 Question Id : 16794318219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The sides of a triangle are 5 cm, 12 cm. and 13 cm. circles of radius 2 ¢m are drawn at each of its vertex. What is the
area of the triangle excluding the portion lying in the sectors of the circles? (m=3.14)

Options:
1 % 17.44 cm?
5 % 20.58 cm?

3 « 23.72 cm?

4 % 25.82cm?

Question Number : 53 Question Id : 16794318219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

v Fegsr 1 =7 5 em, 12 cm, 3T 13 cm 2| 30S F M W 2 em B F geq FAC AT B
Iodl & &3 7 3 T TTW F ol B #7 &9na F4r g7 (1 = 3.14)
Options:

;% 17.44 cm?

, % 20.58 cm?
2 ¢ 23.72 cm?

. % 25.82 cm?

Question Number : 54 Question Id : 16794318220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The radius of a sphere is increased by 120%. What is percent increase in its surface area?

Options:
| % 56.25%

> % 156.25%

4 v 406.25%

Question Number : 54 Question Id : 16794318220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Us el HT AT 120% 9T & A g1 38 g 89%d H Siavd gig Thder g2

Options:

| % 56.25%

. = 156.25%

. 25.44%
3. EL

. 406.25%

Question Number : 55 Question Id : 16794318221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



The efficiency of A, B and C are in the ratio 4 : 5 : 6. They together can complete a work in 32 days. In how many days,
B alone with complete that work?

Options:
1 ® 30

oo 06
- % 100

4 % 120

Question Number : 55 Question Id : 16794318221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A, B T C & #rigefdr 4 : 5 : 6 % I H 2| T Te Wiy Aoy vk FH # 32 fom # qw
THd £l 35 B 30 ¥ & A i & @ wem?

Options:

1 * 80
. v 96
2 % 100

4 % 120

Question Number : 56 Question Id : 16794318222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
2 men working 8 hours a day can build 112 m long wall in 6 days. What length of a similar wall can be built by 25 men
working 5 hours a day in 3 days?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1 43.75m

5 4375 m
5 44.75m

4 4425m

Question Number : 56 Question Id : 16794318222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



RIS R FHFA T2 NN 6 T T 12 maN e s Toa £1 T Ra # 65 o2 17
T T 25 AW I 3 e # =@ g Fr g 79 S w9 S g 87
Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al

candidates.
Options:

| 4375 m

, 4375 m

5 44.75 m

. 4425 m

Question Number : 57 Question Id : 16794318223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A boat can travel 7.5 km upstream and 9 km downstream in 2 hours. Also, it can go 9 km upstream and 15 km
downstream in 2 hours 45 minutes. What is the speed of stream in km/h?

Options:
1. ® 1

[+2
b
| ]
Ln

b
#
r_\H
Lh

Question Number : 57 Question Id : 16794318223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TF AT 2 ¢ H 7.5 km urr-aEe (EE) 3R 9 km UNT-3EH (SEAEEH) ST FHAT 81 FHR
HelmET, I 2 Ue 45 fAee 7 9 km IR AT 15 km SBAEEH ST Hhal ¢l any Fr aify km/h &
FT 7

Options:

1_-5-:3-1

3 3



Question Number : 58 Question Id : 16794318224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A car travels, 100 km with a speed of 60 km/h and next 200 km with a speed of 75 km/h. What is the average speed of
car for whole journey correct to one decimal place in km/h?

Options:
1 ® 67.5
5> % 68.3

3 o 692

4 % 69.8

Question Number : 58 Question Id : 16794318224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TH FR 60 km/h Fr a1fd T 100 km Fr gff 3K 75 km/h Fr a1fF F 30760 200 km Fr g T FT B
ot I & T R e ofT km/h # FT 82 (TF gAEeE T O @)

Options:

1 ® 67.5

> % 68.3

z « 69.2

. 69.8

Sub-Section Number : 2
Sub-Section I1d: 1679431156
Question Shuffling Allowed : Yes

Question Id : 16794318225 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59 to 60)
Cesticn Label | Comprehension



Read the table and answer the following questions

The following table gives the marks obtained by students in a class out of
50 marks in the given class intervals.

Class interval | 0-10 | 10-20 | 20-30 | 30-40 | 40-50

No. of
35 S
e 10 15 45 3 15

Sub questions

Question Number : 59 Question Id : 16794318226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the mean mark of student?
Options:

1 o ZTS

Question Number : 60 Question Id : 16794318227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If the above information is represented as Pie-chart.
what is the central angle of the sector representing
the number of students in the interval 20-307
(Correct to complete degree)

Options:
, % 110°
> % 120°

3 % 125°

ol A5

Question Id : 16794318225 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (59to 60)
Juestion Label @ Comprehension



fArafefa oo & 397 3aue # SE garr 50 3 7 &
qTedTe 2T gl

g9 oo« | 0-10 | 10-20 | 20-30 | 30-40 | 40-50
oEr ST §Ear | 10 15 45 35 15

AT Tgeht FaToriad 99a & el &

Sub questions

Question Number : 59 Question Id : 16794318226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
OIS T AT & T 872
Options:

| ¢ 275
, % 27.8
2 % 284

4% 292

Question Number : 60 Question Id : 16794318227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ifg 397 FFSNT 9% T F T A g
ST g, A F97 AT 20- 30 F o &
HEAT Gl aTel &1 &7 Fard ShIuT F4T 272
(fFsreas Qo 2= )

Options:

, % 110°

o ® 120°
5 % 125°

4 o 1350



Zeneral English

Group Number : 4
Group Id: 167943677
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General English

Section Id : 167943742

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 1679431157
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 16794318228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

One of the options below is a complete sentence. Identify it.
Options:

1 % Here and there

- % Thedog in the kennel

- % Honey and Cream

4 « The plumber fixed the tap

Question Number : 61 Question Id : 16794318228 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
One of the options below is a complete sentence. Identify it.

Options:



1 % Here and there

- w Thedog in the kennel

- » Honey and Cream

4  The plumber fixed the tap

Question Number : 62 Question Id : 16794318229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose a suitable ending for this sentence:

He prepared well for the exam, yet

Options:
; w hepast.

» « he failed in the exam.

5 # hepassed.

4 # he falls.

Question Number : 62 Question Id : 16794318229 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose a suitable ending for this sentence:

He prepared well for the exam, yet

Options:
, % hepast.

> o he failed in the exam.

5 # he passed.

4 % he falls.

Question Number : 63 Question Id : 16794318230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which sentence of the below is grammatically most appropriate?



Options:
, = Iplanned to watch a movie and I couldn’t get the ticket but I reached home sad.

- » 1planned to watch a movie but I couldn’t get the ticket but I reached home sad.

- « 1 planned to watch a movie but I couldn’t get the ticket and I reached home sad.

4 = 1planned to watch a movie and I couldn’t get the ticket but I reached home sad.

Question Number : 63 Question Id : 16794318230 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which sentence of the below is grammatically most appropriate?
Options:
, = Iplanned to watch a movie and I couldn’t get the ticket but I reached home sad.

- = 1planned to watch a movie but I couldn’t get the ticket but I reached home sad.

- « 1 planned to watch a movie but I couldn’t get the ticket and I reached home sad.

4 = 1planned to watch a movie and I couldn’t get the ticket but I reached home sad.

Question Number : 64 Question Id : 16794318231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank with the most appropriate option.

This time tomorrow, I on the cricket field.
Options:
, = play

» » would play

5 « Will be playing

4 = played

Question Number : 64 Question Id : 16794318231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Fill in the blank with the most appropriate option.

This time tomorrow, I on the cricket field.
Options:
, = Dplay

» » would play

5  Will be playing

4 = Dplayed

Question Number : 65 Question Id : 16794318232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank with the most appropriate option.

My puppy dislikes a bath.
Options:
1 % totake

-  taking

z % take

4 w totaking

Question Number : 65 Question Id : 16794318232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank with the most appropriate option.

My puppy dislikes a bath.
Options:
1 % totake

o  taking

z % take

4 = totaking



Question Number : 66 Question Id : 16794318233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
"Where is my walking stick?" said grandpa. The reported speech of this sentence is:

My grandpa
Options:
, = said where walking stick is

-  asked where his walking stick was

- w asked if walking stick was there

4 = asked whether walking stick was there

Question Number : 66 Question Id : 16794318233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
"Where is my walking stick?" said grandpa. The reported speech of this sentence is:

My grandpa
Options:
, = said where walking stick is

-  asked where his walking stick was

- u asked if walking stick was there

, = asked whether walking stick was there

Question Number : 67 Question Id : 16794318234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
Provide the appropriate question tag for the below question:

She does most of the work.
Options:
1 % does she?

- % should she?



% % mustn't she?

4 « doesn’t she?

Question Number : 67 Question Id : 16794318234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate question tag for the below question:

She does most of the work.,

Options:
1 % does she?

- % should she?
% % mustn't she?

4 « doesn’t she?

Question Number : 68 Question Id : 16794318235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate synonym for the underlined word in the below sentence:

She is a saviour of the destitute.
Options:
, = wealthy

- % dissatisfied

5  impoverished

4 = creamy layer

Question Number : 68 Question Id : 16794318235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate synonym for the underlined word in the below sentence:

She is a saviour of the destitute.
Options:
, = Wwealthy



- % dissatisfied
-  impoverished

4 w creamy layer

Question Number : 69 Question Id : 16794318236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate synonym for the underlined word in the below sentence:

The welfare scheme kindled hope amongst the deprived.
Options:
1 % soared

- « ignited

- % decimated

4 % reacted

Question Number : 69 Question Id : 16794318236 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate synonym for the underlined word in the below sentence:

The welfare scheme kindled hope amongst the deprived.
Options:
1 % soared

- « ignited

z % decimated

4 % reacted

Question Number : 70 Question Id : 16794318237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate synonym for the underlined word in the below sentence:

The boys live in a cohesive community.



Options:
1 # coarse

> ® course
= « close-knit

4 ® grand

Question Number : 70 Question Id : 16794318237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate synonym for the underlined word in the below sentence:

The boys live in a cohesive community.

Options:
1 ® gCoarse

5 #® course
% « close-Knit

4 ® grand

Question Number : 71 Question Id : 16794318238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate antonym for the underlined word in the below sentence:

His timid nature was the cause of his fall.
Options:

1 « bold
- % bald

=z % humid

4 R Pretty

Question Number : 71 Question Id : 16794318238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Provide the appropriate antonym for the underlined word in the below sentence:

His timid nature was the cause of his fall.

Options:
. « bold

- % bald
%z % humid

4 % Pretty

Question Number : 72 Question Id : 16794318239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate antonym for the underlined word in the below sentence:

Rustom is vague in his dealings.
Options:
| w Improper

-, w unworthy

% % rather

4 o Clear

Question Number : 72 Question Id : 16794318239 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Provide the appropriate antonym for the underlined word in the below sentence:

Rustom is vague in his dealings.
Options:
| % Improper

5 # unworthy

z % rather

4 « clear



Question Number : 73 Question Id : 16794318240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank with the most appropriate option.

It is half past seven my watch.
Options:
1 % with

> & Y
= % on

4 % from

Question Number : 73 Question Id : 16794318240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank with the most appropriate option.

It is half past seven my watch.
Options:
1 % with

> DY
= % on

4 % from

Question Number : 74 Question Id : 16794318241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank with the most appropriate option.

The robber tiptoed towards the locker, he awoke the guards.
Options:
1 % beside

along



4 o lest

Question Number : 74 Question Id : 16794318241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank with the most appropriate option.

The robber tiptoed towards the locker. he awoke the guards.
Options:
1 % beside

» u along

3 % from

4 o lest

Question Number : 75 Question Id : 16794318242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank with the most appropriate option.

he didn’t have formal education, he was a genius in mathematics.

Options:
; = Consequently

>

- % DBecause
= R As

4  Eventhough

Question Number : 75 Question Id : 16794318242 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank with the most appropriate option.

he didn’t have formal education. he was a genius in mathematics.
Options:
; = Consequently

]

- % DBecause



= ® As

4  Eventhough

Sub-Section Number: 2
Sub-Section Id: 1679431158
Question Shuffling Allowed : Yes

Question Id : 16794318243 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension

Read the following passage and answer the questions that follow.

More girls are playing high school football, even as the sport draws
fewer participants overall in an injury-conscious era.

As part of Super Bowl LII in Minneapolis, the National Football League
organized its third Women’s Summit for Friday “to discuss how football
and the broader sports world can continue to support the advancement of
women on and off the field.” said Kamran Mumtaz, an N.F.L.
spokesman.

The sport remains male-dominated. with no women playing in the N.F.L.
and few on college teams. But some high school girls. playing on teams
of boys, are gaining attention for their achievements.

For example, last fall, the high school quarterback Holly Neher threw a
touchdown pass in Florida, making headlines as the first girl known to do
s0 in state history.

And K-Lani Nava. a kicker, became the first girl in Texas to score points
in a high school state championship game.

But as a growing body of research suggests that yvouth tackle football is
harmiful to children’s brains. not evervone is cheering.

Sub questions

Question Number : 76 Question Id : 16794318244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The cause for fewer participants in the sport is:
Options:

1 % Lack of interest



- % Owing to it being a Female dominated sport

5  ltisaninjury-prone game

4 % I has a poor coverage on TV

Question Number : 77 Question Id : 16794318245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The word ‘fall” as used in the passage means:
Options:

1 % A reason

- « A season
= % An accident

4 % A reduction

Question Number : 78 Question Id : 16794318246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Among girls, which group seems to have taken to
this sport in larger numbers?

Options:

; » College girls

- » Kindergarten girls

5  High school girls

4 = University students

Question Number : 79 Question Id : 16794318247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who/What is indicating that the sport is harmful for
children’s brains?
Options:
1 ® NFL



> #% Coaches

= = Male counterparts

4 « Research

Question Number : 80 Question Id : 16794318248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The two girls who made history recently in football
are from:

Options:

, % Minneapolis and Florida

> « Florida and Texas

5 = lexas and Minneapolis

, w Hollywood and Texas

Question Id : 16794318243 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Cuesticon Label | Comprehension



Read the following passage and answer the questions that follow.

More girls are playing high school football, even as the sport draws
fewer participants overall in an injury-conscious era.

As part of Super Bowl LII in Minneapolis, the National Football League
organized its third Women’s Summit for Friday “to discuss how football
and the broader sports world can continue to support the advancement of
women on and off the field.” said Kamran Mumtaz, an N.F.L.
spokesman.

The sport remains male-dominated. with no women playing in the N.F.L.
and few on college teams. But some high school girls. playing on teams
of boys, are gaining attention for their achievements.

For example. last fall, the high school quarterback Holly Neher threw a
touchdown pass in Florida. making headlines as the first girl known to do
s0 in state history.

And K-Lani Nava. a kicker, became the first girl in Texas to score points
in a high school state championship game.

But as a growing body of research suggests that vouth tackle football is
harmful to children’s brains. not everyone is cheering.

Sub questions

Question Number : 76 Question Id : 16794318244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The cause for fewer participants in the sport is:
Options:

1 % Lack of interest

- % Owing to it being a Female dominated sport

5  ltisaninjury-prone game

4 % I has a poor coverage on TV

Question Number : 77 Question Id : 16794318245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The word ‘fall” as used in the passage means:
Options:

1 % A reason



- « A season
= % An accident

4 % A reduction

Question Number : 78 Question Id : 16794318246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Among girls, which group seems to have taken to
this sport in larger numbers?

Options:

; = College girls

- » Kindergarten girls

5  High school girls

4 = University students

Question Number : 79 Question Id : 16794318247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who/What is indicating that the sport is harmful for
children’s brains?
Options:
1 ® NFL

> % Coaches

- = Male counterparts

4 « Research

Question Number : 80 Question Id : 16794318248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The two girls who made history recently in football
are from:;

Options:

, % Minneapolis and Florida



> o Florida and Texas

- = lexas and Minneapolis

. Hollywood and Texas

4. &
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Cereral Hindi

Section Id : 167943743

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 16

Number of Questionsto be attempted: 16
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Sub-Section Id: 1679431159
Question Shuffling Allowed : Yes

Question Id : 16794318249 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (81 to 85)
Cesticn Label | Comprehension
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Sub questions

Question Number : 81 Question Id : 16794318250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el S & ol 1 faeivar 74 &

Options:

1 ® 3‘3“"13'

5> % TaEaTehar

5 v AT

4 % ‘& 5

Question Number : 82 Question Id : 16794318251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
oFel S raut & S W ReE w22

Options:

1_\;;‘:1&%#
o % SUTET H
5 % FITETEROT H

Question Number : 83 Question Id : 16794318252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
‘FPIAFRT FT' FH AT g
Options:

4 v USEHFR

Question Number : 84 Question Id : 16794318253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘TSIT F HT &
Options:

o o 3alglll
3 % SATET

4.&-%5-“

Question Number : 85 Question Id : 16794318254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FSTIH B ST E F AT T
Options:

| % T FAS H 3T

L TS W TES F A1

- » HHASA N G FAdl I34T|

. » 0! OXE WAS H 37T ST g

Question Id : 16794318249 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (81 to 85)



Juestion Label - Comprehension
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Sub questions

Question Number : 81 Question Id : 16794318250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
yFe S % ol #r faevar 7 &

Options:

1 ® ada‘ﬂﬁ“

5 % TEEROERA

3 S fFao el

4 ® & &

Question Number : 82 Question Id : 16794318251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
el ST et @ gRew s fRew w2

Options:

o % SUTET H
5 % HITETEOT H



Question Number : 83 Question Id : 16794318252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘FPIAFRT FT' FH AT g
Options:

4 v USEHFR

Question Number : 84 Question Id : 16794318253 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘TSIT F HT &
Options:

P 3algdU]
3 % SATET

4.&-%5-“

Question Number : 85 Question Id : 16794318254 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FEIH B AT g A AT
s

L TS W TES F A1
- » HASA H FHG Fel 954l

. » 0! OXE WAS H 37T ST g



Sub-Section Number: 2
Sub-Section 1d: 1679431160
Question Shuffling Allowed : Yes

Question Number : 86 Question Id : 16794318255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Trafafaa & acgH o= i I 22

Options:

1.a.,~.F'ﬁET
o of el
gwEﬁ?lT

4w TorsTTeT

Question Number : 86 Question Id : 16794318255 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Taf@T & acgH o #iF @1 22

Options:

1.a.,~.?'ﬁ757
o o Sdel
gwm

4w ToreTTe

Question Number : 87 Question Id : 16794318256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ST & #iF o7 o 927 2

Options:

v T
gwﬁ

2 % TE



4_%»331'%

Question Number : 87 Question Id : 16794318256 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

St & #iF o7 o 2T 2

Options:

L v T8
gwﬁ
2 % W

4_%%

Question Number : 88 Question Id : 16794318257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FafafET & Fi9 @1 o 2= 37
Options:
1 ® CIEED

o % a9

=5 i ”E L

4.%333'“%?

Question Number : 88 Question Id : 16794318257 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FrafafEa & Fi9 @ o 2as B2
Options:

1 ® E®R

> R HIAS

ciE g EIEL



4_-:‘533'“%?

Question Number : 89 Question Id : 16794318258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘T BT gFR & g 82

Options:

4« HAlEE=SR

Question Number : 89 Question Id : 16794318258 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘e BFE g T ger
Options:

—
1 # cdlercidizien

o % SATETeh
- % TETIETEE

4 « HAAdHSR

Question Number : 90 Question Id : 16794318259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT foRT Jh @ fRroT 37

Options:

IUTT= R
T

E_RFﬁm



4 % TEUEESR

Question Number : 90 Question Id : 16794318259 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘W e g @ BT 87

Options:

BNCIEED
Lol 2

S_RW

4 % TEUEESR

Question Number : 91 Question Id : 16794318260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘FTERUT F A =S g
Options:

L T

5 % 39 + HXU

o @ 3 * TR0

, % 3 + =T

Question Number : 91 Question Id : 16794318260 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘ITEARUT & JY [@=og grem:
Options:

Lw T

5 % 39 + HXU

. 3d + IR0



4, w 3 + =TT

Question Number : 92 Question Id : 16794318261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FFTH H FIT G TAH g2

Options:

5 o HSOUTHE

4 #® j-:-

Question Number : 92 Question Id : 16794318261 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
FHHE H FiA T TAT 27

Options:

5 HOUTHE

Question Number : 93 Question Id : 16794318262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tfafaa # ¥ &9 3@ ae= =feer 22
Options:

| FEA
2%3_'3-

L % BHOT



s % BT

Question Number : 93 Question Id : 16794318262 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e # § &9 T ae =feer 22
Options:

o W g_‘\q-
3 %

s n B

Question Number : 94 Question Id : 16794318263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘O H 3T g

Options:

A

2 % T

2n

, v TH

-

Question Number : 94 Question Id : 16794318263 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘HIE H ITEA g

Options:

1 ® H

4 v 91

-



Question Number : 95 Question Id : 16794318264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
gesw # g=ww §
Options:

1 ® ﬁl’&'
E_Jw
I ® HO

4 % T

Question Number : 95 Question Id : 16794318264 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Revisit allowed for edit? : No
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Group Marks: 20
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Question Number : 101 Question Id : 16794318270 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does growth imply?
Options:

| Quantitative change

» » Unfolding of individual’s inherent traits

5 % Qualitative change

, # Change in aftitude and personality
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Question Number : 102 Question Id : 16794318271 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What do you understand by Piaget’s sensorimotor stage?
Options:

 Children are able to use logic to solve problems

Do

-  Children learn about the world through their senses

= % Children become more aware of external events

4, # Children develop memory and imaginations
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Correct Marks: 1 Wrong Marks: 0.25
How do children in the age group of 3 to 5 learn?

Options:



, w By experiencing the environment through senses

o « Through variety of experiences with larger focus on fine motor activities

- » [Ihrough verbal ability and develop concepts and problem skills

4 = Topay attention and develop interest in reading, writing and arithmetic
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Question Number : 104 Question Id ;: 16794318273 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which set of needs are a child’s first needs according to Maslow?

Options:
1 % Intellectual needs

- % Social needs

5 « Physiological needs

4 % Emotional needs
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Correct Marks: 1 Wrong Marks: 0.25

Chomsky’s language development theory helps the language teachers as he believes that:
Options:

, « Children are born with an inherited ability to learn any human language

- » Social learning theory in language acquisition

T ®
Language response is based on factors, which are reinforcement, stimulus control, deprivation and aversive stimulation

4 = Language is learnt through operant conditioning
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Question Number : 106 Question Id : 16794318275 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What are the major characteristics and developmental changes from birth to 2 years of age?



Options:
1, -

Children begin using inductive logic or reasoning from specific information to a general principle.

o ®
Children begin to use deductive logic or reasoning from a general principle to specific information.

=
Children at this stage tend to be egocentric and struggle to see things from the perspective of others

CTR
Children learn about the world through basic actions such as suckling, grasping. looking and listening.
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Question Number : 107 Question Id : 16794318276 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What does accommeodation mean?

Options:
1, .

It is important to maintain a balance between applying previous knowledge and changing behaviour to account for new
knowledge.

o =R

The process is somewhat subjective because we tend to modify experiences and information slightly to fit in with our
pre-existing beliefs.

3. v
It involves modifying existing schemas. or ideas. as a result of new information or new experiences.



4 %
The process of taking in new information into our already existing schemas is known as assimilation.
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Single Line Question Option : No Option Orientation : Vertical
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What are the Havighurst’s Developmental Tasks during the life span for late childhood?

Options:

1. ¢

Learning physical skills. getting wholesome attitude towards self. learning to get along with age mates

2 %
Achieving new and mature relations. achieving masculine and feminine social roles. accepting one’s physique

3z &
Getting started in an occupation. starting a family. managing home, taking civic responsibility

4 ®
Learning to take solid food. learning to talk and walk. and learning to control the elimination of body wastes
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Question Number : 109 Question Id : 16794318278 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When does learning start?

Options:
1 % When an individual interacts in school

- « When an individual interacts at home
= % When an individual reads books

4 = When an individual interacts with the members of the society

Question Number : 109 Question Id : 16794318278 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

=T e w e g7

Options:

. 99 Pl Afad Thal H dadid &l gl

Y

, » 8 FIZ FT W R FFEd H g

_ « 9 F12 afad fFae ggar g

, « T9 P T TAS F T F T qT FA 2

Question Number : 110 Question Id : 16794318279 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



What is meant by “learning is both individual and social™?
Options:
, = Learning is both physical and mental development of the learner

-~ = Learning is through experience, which provides knowledge. understanding and skills

- w Learning implies self-activity. which needs motivation

4
Learning is the process where individual mind is consciously or unconsciously affected by the group activities
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What did Dr. Benjamin Bloom want to promote?
Options:

, = Appropriate attitude

- « Higher form of thinking

- = Intelligence

4 = Development of behaviour
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What does affective domain involve?
Options:

1 % Mental skills

- # Physical growth

5 ® Manual or physical skills

4  Growth in feelings or emotional areas
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Question Number : 113 Question Id ;: 16794318282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



What do you understand by remembrance in cognitive domain?
Options:
, » Comprehending the meaning, translation, interpolation and interpretation

- » Using a concept in a new situation or unprompted use of an abstraction

-  Recalling or retrieving previous learned information

4 = Making judgments about the value of ideas or materials

Question Number : 113 Question 1d : 16794318282 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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TAECHS &9 (S84) § TR0 ¥ 319 F7 g55d 27
Options:

|y Y, S, SUE HR U F FHAA|

oo T 75 T 7 o1 aFF T & Hecatard 39ART # FTUROT & 3IART HET|

quﬁm%mﬁwm LT AT YA JIod FLAT|

, « TERI I FARE & TeT F aR # HU Fa

Question Number : 114 Question 1d : 16794318283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which category do these examples belong to:

Select the most effective solution, hire the most qualified candidate, explain and justify a new budget?
Options:
, « Evaluating

> % Applying

5 # Analysing

4 = Creating
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which is the feature of socialisation?

Options:

, w Knowledge or skills acquired by instruction or study alone

- % Inculcating basic discipline

=  [Ihe characteristics and knowledge of a particular group of people

4 » Behaving in a deviant manner
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Question Number : 116 Question 1d : 16794318285 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the explanation Jean Piaget gave for socialisation?

Options:
1%

He believed that people learn the cultural values and norms that make up a part of the personality, which he called superego

o &
He believed in the impotrtant reaction of others to the developing self—concept. which he called as ‘looking-glass self’

3 %
He believed that an individual’s social experience was a primary determinant of individual identity, which he called as
‘the self”

TR
He believed that human development is the result of both biological maturation and increasing social experience
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Correct Marks: 1 Wrong Marks: 0.25

What does language enable?

Options:

; = Tohave anormal physical growth of human beings



- u Biological evolution of human beings

5  To transmit culture not only to the present, but also from past to future generations

4 = Todevelop diverse or different ways of life
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Question Number : 118 Question Id : 16794318287 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the meaning of Anticipatory Socialisation?
Options:
, « The process by which men learn the culture of a group with the hope of joining the group

- u Socialisation of the infant in the primary or earliest years of his/her life

g -
Process of discarding former behaviour patterns and accepting new ones as a part of transition in one’s life

4 = During growth stage, a child learns very important lesson in social conduct from his peers
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the primary setting for nurturing children?
Options:

1 % School

o o Family

5 # Society

4 = Community
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What do you mean by ‘the knowledge children learn is culturally determined’?
Options:
, % Children learn through traditions and customs

- = Religion plays an important part in cultural learning

= » Moral classes are taken where the children are exposed to culture

4 v
Cultural institutions such as the home, school. media, sports and arts are responsible for this teaching
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Question Number : 121 Question Id : 16794318290 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the meaning of “Guarantee the child’s physical well-being’?
Options:

, = Interaction. stimulation and play

- # Providing emotional security, socialisation. nurturing and giving affection
3.9
Keeping the child safe and free from harm. providing shelter and clothing. preventing and attending to illness

, » Interaction within the community. at health clinics. at school
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Question Number : 122 Question Id : 16794318291 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Explain the socialisation at the elementary-level school.
Options:

e

Teacher makes the children learn good habits, civic responsibility and how to mingle with the societv

- = Teacher encourages the children to listen to lectures on religious values

3 %
Children learn the skills that help them in the future to actively participate in co-curricular activities

4 = No strict rules to learn, but education is learnt by the way of playing
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Question Number : 123 Question Id ;: 16794318292 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The equal word in Latin for the word is

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1 Educatum

~> Educare



3 Education

4 Educere

Question Number : 123 Question Id : 16794318292 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

TsgeheA (Educatum)

L

TSgeha (Educare)

!

. TsgeRe (Education)

TSTHUAT (Educere)

4.

Question Number : 124 Question Id : 16794318293 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Learning through correspondence” is which mode of education?

Options:
1 % Informal education

> « Non-formal education

- » Lifelong education

4 % Formal education

Question Number : 124 Question 1d : 16794318293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 125 Question Id : 16794318294 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Gender diversity means:

Options:

, « Equitable ratio of men and women

- % Equitable ratio of employed men and women

- = Equitable ratio of population

, = Equitable ratio of educated women and men

Question Number : 125 Question Id : 16794318294 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 126 Question Id : 16794318295 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the full form of IEP?
Options:
1 « Individualised Educational Plan



> % Instructional Educational Plan

- = Individualised Engage Plan

4 % Indian Educational Plan

Question Number : 126 Question Id : 16794318295 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

sf3dig3raTsss T eee o (Individualised Educational Plan)

1.9

m 3&3"31?!3{ qﬁﬂmﬂ' Tl (Instructional Educational Plan)

<8 ﬁgﬁﬁéﬁ =9 ol (Individualised Engage Plan)

, » ST TFAFS T (Indian Educational Plan)

Question Number : 127 Question Id : 16794318296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If a student is unable to walk and talk properly, this is referred to as:
Options:

. Learning disability

e o

- « Locomotor disability

- » Mental disability

4 = Walking disability

Question Number : 127 Question Id ;: 16794318296 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 128 Question 1d : 16794318297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
An inclusive education system provides children with a fair chance to:

Options:
; » Play

- % Work

5 = Enjoy

4 « Learn

Question Number : 128 Question Id : 16794318297 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 129 Question 1d : 16794318298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the important educational objective of NPE-1986?

Options:
1 % Universal retention

> o Universal access and enrolment



- w Universal primary education

4 % Universal education

Question Number : 129 Question 1d : 16794318298 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 130 Question Id : 16794318299 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ruby has hearing impairment and all the students in her school have various such difficulties and disabilities. What do
you call such type of schools?

Options:
1 % Inclusive schools

- % Government schools

=  Special schools

4 % Private schools

Question Number : 130 Question Id : 16794318299 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 131 Question Id : 16794318300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the full form of NIOS?
Options:

, = National Indian Open Schooling

- % Native Indian Open School

5 ® National Institute of Open Shelf

4 « National Institute of Open Schooling

Question Number : 131 Question Id : 16794318300 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

NIOS T 0T & T g?

Options:

.« National Indian Open Schooling (FFereter 3o 3o w=pioe)

, » Native Indian Open School (#feT o 3w T=pe)

. » National Institute of Open Shelf (T STERYE HF HOA AeF)

, » National Institute of Open Schooling (AT FETIT HTH 3T FHoreT)

Question Number : 132 Question Id : 16794318301 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Special educational needs with reading is termed as:

Options:



. « Dyslexia

- u Dyscalculia

- # Dysgraphia

4 = Dyspraxia

Question Number : 132 Question Id : 16794318301 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 133 Question Id : 16794318302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Juvenile delinquency means:

Options:
, w Educating elderly people

-~ u Educating young children

-  Habitual committing of criminal acts by young children

, » Habitual committing of criminal acts by elderly people

Question Number : 133 Question Id ;: 16794318302 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 134 Question 1d : 16794318303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ADHD is expanded as:

Options:

, = Auto Deficit Hyperactivity Disorder

Autism Deficit Hyperactivity Disorder
o  Aftention Deficit Hyperactivity Disorder

Attention Deficit High Disease

Question Number : 134 Question 1d : 16794318303 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| » ¥er 3fhee geeiFefadr fBHaET (Auto Deficit Hyperactivity Disorder)

, « HfesH 3fhde gremefefadr fBuamet (Autism Deficit Hyperactivity Disorder)
. » ¥eue e grswuiFefadr fBHaET (Attention Deficit Hyperactivity Disorder)

, » 3w 2THIE g5 S (Attention Deficit High Disease)

Question Number : 135 Question Id : 16794318304 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The educational philosophy can be fined as:



Options:
, « Asetofbeliefs and values decided by a team

-~ # The general ideas of education

- % [Ihe overarching aim of education

4 = The guidelines for students

Question Number : 135 Question 1d : 16794318304 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ANTEF ST F =7 T H IHNT FAT I GFar 7

Options:

| O g TR frarat #R Fed w1 v de

> w T8 & WA EER

- % TG T HOTOE wET

, » O & o fenfafger

Question Number : 136 Question Id : 16794318305 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The purpose of education is an element under the:
Options:

, = Educational psychology

- u Educational sociology

z ® Educational technology

4 « Educational philosophy

Question Number : 136 Question Id : 16794318305 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 137 Question Id : 16794318306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Using mind maps is a teaching approach used when the educational philosophy is which of the following?

Options:
, = Pragmatism

> « Rationalism
% % Socialism

4 = Empiricism

Question Number : 137 Question 1d : 16794318306 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 138 Question Id : 16794318307 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“All learning should occur in collaborative groups™ is advocated by which of the following schools of thought?

Options:



1 « Social constructivism
- % Radical constructivism
= % Individual constructivism

4 % Anti-social constructivism

Question Number : 138 Question Id : 16794318307 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

“FAES feT0T FEART FAg F 2T Wfgw” SHEH FHed AEfaied § # e FERumr gamr #r amwr
g7

Options:

| v TS FEAEE

. » T WS

L % SOTFde TEAERE

% TATH-ET TXEAEE

Question Number : 139 Question Id : 16794318308 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Connecting with other schools and pairing with the students from different countries is an impact of technology. which
is called:

Options:
1 % Research

> o Globalisation
% % Distance education

4 % Nationalisation

Question Number : 139 Question Id : 16794318308 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 140 Question Id : 16794318309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“Technology has led to knowledge explosion.” What does this mean?

Options:
, = Explosive information

- u Increased knowledge

-  Growth and expansion at high speed

4 % Excessive information

Question Number : 140 Question Id : 16794318309 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Subject Related
Group Number : 8



Group Id : 167943681

Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Subject Related

Section Id : 167943746

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 1679431163
Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 16794318310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is not an advantage of educational technology?
Options:

, = Providing pleasant learning experiences

> » Providing learning with less dangerous expetiences compared to the real context

5  Providing time-consuming learning experiences

, = Providing scope for extended learning and understanding

Question Number : 141 Question Id : 16794318310 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 142 Question 1d : 16794318311 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
One of the common reasons for technology not being used optimally in education is:

Options:

, = Insufficient development of technology

~ « Teacher afttitude

- % Acceptance in the society

4 % Student interest

Question Number : 142 Question Id : 16794318311 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 143 Question Id : 16794318312 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is not a benefit of information technology?

Options:



, » Knowledge explosion

- % Retrieval of information
= % Preservation of information

4 « Detecting information

Question Number : 143 Question Id : 16794318312 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
fafefEa & & #ia 7 == SigaifFehr &1 ansr 7&r g2

Options:

1. ® mﬁm

_ gaar B g1 9ifeT
- S Pl

AT T TIRIETOT

..

o T G

Question Number : 144 Question 1d : 16794318313 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Interacting with people on the other side of the globe could lead to which of the following?

Options:
, « Knowledge explosion

- = Knowledge redundancy

= #% Information retrieval

4 % Information retention

Question Number : 144 Question Id : 16794318313 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 145 Question Id : 16794318314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a method of non-verbal communication?

Options:
1 # Circulars

5 % Newspapers

= « (Gestures

4 = Delivering lecture in class

Question Number : 145 Question 1d : 16794318314 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 146 Question 1d : 16794318315 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is ICT-enabled evaluation method?

Options:



; w Student portfolios

- « Online assessment

- » Penand paper tests

4 % Personal interviews

Question Number : 146 Question Id : 16794318315 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 147 Question Id : 16794318316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is knowledge objective?

Options:

1,

It is achieved by developing the abilities of seeing relationship, discrimination, cite example and generalization.

2 %
It is achieved by developing the abilities of reasoning, hypothesizing, inferring and prediction.

3 %
It can be achieved by satisfying the highest needs of a person and employing internal motivation.

i It is achieved to develop the recall and recognition abilities.

Question Number : 147 Question 1d : 16794318316 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT 3297 F4T 27



Options:
1,-.

Tg Ty, ST, 30T, 3SR A TTHAEIUT I ST T &TAaH & i &3 gride
TaT 2

2 ®

I T, TNFoq, HJA I TaEAT Hr ardarat 1 Fwfda s aiffer fFar smar g
3 #

Tz BT safaa ST HERTHars F O FF 3R HanE awon # WS s et G e
T B

. v TE T AR FAF= smarst #F TElT & & B @ G S gl

Question Number : 148 Question 1d : 16794318317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What are the characteristics of a good achievement test?

Options:

. « Itistried out and selected on the basis of its difficulty level and discrimination power

-~ = To get better understanding of the needs and abilities of the learners

- w Todiscover backward learners who need help and to plan for remedial classes

4 = Toevaluate, revise and improve curriculum

Question Number : 148 Question Id : 16794318317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 149 Question 1d : 16794318318 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which one of the following is not a technique of teaching vocabulary?

Options:
; = Jumbling of letters

- % Riddles

5 « Mind map

4 = Word building

Question Number : 149 Question Id : 16794318318 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 150 Question Id : 16794318319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The reading done in isolation, without the guidance of teacher, helps develop a taste for reading and makes the learner
an independent reader. Which type of reading strategy is it?

Options:
, = Skimming
Scanning

z%

- w Intensive reading

4  Extensive reading



Question Number : 150 Question Id : 16794318319 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 151 Question Id : 16794318320 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

An English teacher of grade 3 is using a role-play in the classroom to help children learn English effectively. She is
actually using a:

Options:
1 % Method

-  Tlechnique

- = Approach

4 u None of the other options

Question Number : 151 Question Id : 16794318320 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 152 Question 1d : 16794318321 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Who gave the terms such as acquisition, monitor, natural, input, affective hypothesis in theory of acquisition of second
language?

Options:
1 % Steven Pinker

- % Vivian Cook

5 # Vvygotsky

4 « Stephen Krashen

Question Number : 152 Question Id : 16794318321 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 153 Question Id : 16794318322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the meaning of multi-grade and multi-level teaching strategies?
Options:
1.
These are strategies where a teacher deals with learners of variant levels of varying abilities and different grade levels of
different age groups

> %
It is about creating confidence in their interesting learning areas and then moving to other areas

i
These are about framing more number of instructional materials or exercises with considerable flexibility



4 = These are about teaching small spells as their span of attention will be limited

Question Number : 153 Question Id : 16794318322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ag-%ﬁag-mﬁwmﬁﬁﬁmﬁm%?

Options:
e

T F R § S8 ve Rete sreer-aenr aeanst & Rfee w0 Ak Rftee g wegt & Rt
Iz U F el ¥ geuEER #1442

2%
TEIAF ToF et F e s s ik A s T F I F Iy 7 2

3 -

T AT TS & Oy ¥9% TEuT # s gEe O7 3O gUR 0 & 9 F 2

, % U O Fafaar e & SR # § Fife 3 e & grERT HifAd gl

Question Number : 154 Question Id : 16794318323 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the meaning of phonology?

Options:
Vocabulary

B8
- % QGrammar

5  Sound system

4 % Context-dependent rules

Question Number : 154 Question Id : 16794318323 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 155 Question Id : 16794318324 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which option best describes the oral skills of infants?
Options:
1% Using the language to communicate their likes and dislikes

g
Listening to and become aware of sounds of the words being spoken by the adults around them

- u Using language to express feelings and ideas and seek information

g4 B
Building a larger vocabulary from the language of people around them and from new ideas in books

Question Number : 155 Question 1d : 16794318324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 156 Question Id : 16794318325 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the activity to be performed by the adults to develop children’s oral language skills?

Options:



.« Make children practice using rich and abstract vocabulary

> » Using unrelated vocabulary and making children repeat them

- » Make children practice with isolated words and repeat them

4 # Making children practice is not necessary, they will learn on their own

Question Number : 156 Question Id : 16794318325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 157 Question Id : 16794318326 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is meant by extended conversation with children?

Options:
; = The words uttered by the children are extended by the adults

5 R ‘When children speak, correct their spoken language

-  Have conversation with each child that goes back and forth multiple times

4 w Toaccept one-word answer from children to the questions asked

Question Number : 157 Question Id : 16794318326 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 158 Question Id : 16794318327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The teacher is teaching arithmetic in the class. She continues to repeat a particular concept until it gets fixed in the mind
of the students. The approach the teacher is following in the class is called:

Options:
;% Incidental approach

-  Drill approach

- u Social approach

4 # Meaningful approach

Question Number : 158 Question Id : 16794318327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 159 Question Id : 16794318328 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which branch of mathematics is considered to be essential for efficient and successful living, having the maximum
utilitarian value to almost all human in all walks of life?

Options:
, = Geometry

> u Algebra

3 % Aesthetics

4 « Arithmetic

Question Number : 159 Question Id : 16794318328 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 160 Question Id : 16794318329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who was the great scientist to appreciate the language of mathematics as “Mathematics is the language in which God
has written the universe.”

Options:
1 « Galileo

- % Bertrand Russel
- % Plato

4 = A H Hardy

Question Number : 160 Question Id : 16794318329 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Group Number : 9
Group Id : 167943682
Group Maximum Duration : 0
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Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

subject Related

Section Id : 167943747

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Pane: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I d: 1679431164
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 16794318330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



These type of questions create interest in learning mathematics. They help in the development of logical thinking and
reasoning. These questions have clever and surprising answers. Which type of questions are these?

Options:

. Magic squares

- « Riddles

- # Recreational games

4 = QGuessing game

Question Number : 161 Question Id : 16794318330 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 162 Question 1d : 16794318331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The school should maintain to provide information about a student’s progress and weakness to their teachers and
parents.

Options:
1 # anecdotal records

- % observation records
= « cumulative records

4 = pupil’s products

Question Number : 162 Question Id : 16794318331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 163 Question Id : 16794318332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Imitation, articulation and naturalisation are related to which of the below domains in learning?

Options:
1 % Affective domain

- % Skill domain
-  Psycho motor domain

4 w Cognitive domain

Question Number : 163 Question Id : 16794318332 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 164 Question 1d : 16794318333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
The Cone of Experience is given by:

Options:
1 % Bloom

o o Dale
z % Michaelis

4 » Wesley

Question Number : 164 Question 1d : 16794318333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 165 Question 1d : 16794318334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of these is not the purpose of mind mapping?

Options:
1 Learning

» w [leaching

= « Motivation

4 % Assessment

Question Number : 165 Question Id : 16794318334 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 166 Question Id : 16794318335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The main objective of environmental education is:
Options:

. Repair, reduce, refuse and reproduce

R

-~ » Regard, respect. respect and retreat

- » Right education, right concept and reuse the education

i Refuse, reduce. reuse and recycle

Question Number : 166 Question Id : 16794318335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 167 Question 1d : 16794318336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

Which of the following is an example of ‘skills of stimulus variation®?
Options:

Writing on the board

3.9

o o Using gestures
=z % Motivation

4 = Asking questions

Question Number : 167 Question Id : 16794318336 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e # ¥ =i9 3@ 'Wor @ aar F e F1 TF 3880 27
Options:

, % 8% W o

Question Number : 168 Question Id : 16794318337 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the below concepts is given by National Policy on Education (NPE) -19867

Options:
, = Lesson plan elements

> u Teaching elements

= % Core elements

4  Teaching learning element

Question Number : 168 Question Id : 16794318337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 169 Question 1d : 16794318338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Pie’ graph is also known as:
Options:

, w» Bargraph

-~ w Line graph

5 u Pictorial graph

4 « Circlular graph

Question Number : 169 Question Id : 16794318338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
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Question Number : 170 Question Id : 16794318339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“A project is a bit of real life that has been imported into the school.” Who stated this?



Options:
1 ® JA. Stevenson

- = Kilpatrick

- % John Dewy

4 « Ballard

Question Number : 170 Question Id : 16794318339 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 171 Question Id : 16794318340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
According to Plato, an art is:

Options:
1 « An imitation to nature

- # A lie that makes us realise the truth

Not a thing, it is a way

4 % A skill or craft

Question Number : 171 Question Id : 16794318340 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 172 Question Id : 16794318341 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The important characteristic of an art is:

Options:

, = Itis about something

> % It is about an individual skill
= % It is all about nature

4 « ltreflects a society’s culture

Question Number : 172 Question Id ;: 16794318341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 173 Question Id : 16794318342 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The most esteemed ancient art forms were:
Options:



, w Wall paintings

> s Music and poetry

= % Handicrafts

4 +« Dance forms

Question Number : 173 Question Id : 16794318342 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 174 Question Id : 16794318343 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Why do we need yoga at an early age for kids?
Options:

, = Toenhance their flexibility and strength

-~ = Toencourages self-esteem and body awareness

- % Lo improve concentration, calmness and relaxation

4  Toacquaint them with various postures

Question Number : 174 Question Id : 16794318343 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 175 Question Id : 16794318344 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The skills employed in gardening. when kids use a trowel or rake and pick up tiny seeds to plant are called:

Options:
1 « Fine motor skills

- u Literary skills

= % Intellectual skills

4 % Mathematical skills

Question Number : 175 Question Id : 16794318344 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 176 Question Id : 16794318345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
During a gardening activity. which of the following does not cater to the development of literary skills?

Options:



, w Learning the names of the different plants grown in the garden

-~ » Reading the growth requirements of various plants mentioned on the seed or plant packages

-  Preparing the soil. planting, watering and weeding

4 # Making a map of your garden or your yard, and labelling the plants

Question Number : 176 Question Id : 16794318345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 177 Question Id : 16794318346 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Why did some Indians argue that Indian customs demand that there is no need for sex education?
Options:

, = There are no sex-related problems in our nation, so no need for sex education

o ®

Giving sex education is not that important as gaining knowledge for future profession in our nation

-  Our traditions and cultural values are good enough to control the situations

4 ® Adolescents get information about sex from media, so no need for sex education

Question Number : 177 Question Id : 16794318346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 178 Question Id : 16794318347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is one of the major objectives of adolescent education?
Options:

1L

Developing socio-psvcho abilities that enable individuals to translate knowledge and attitude into healthy behaviours

-~ % Teaching concepts in class that enable individuals to succeed in life

- » lmparting values that enable individuals to be obedient students

, = Imparting skills that enable individuals to settle in society

Question Number : 178 Question Id : 16794318347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Question Number : 179 Question Id : 16794318348 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is adolescence?

Options:

, = Adolescence is a period of unfolding of individual’s inherent traits

- u Adolescence is a complex process of integrating many structures and functions

3 ¥

Adolescence is a period of rapid development when young people acquire new capacities and are faced with new
challenges

4 #
Adolescence is providing raw material for learning, and determining more general pattern and sequence of behaviour

Question Number : 179 Question 1d : 16794318348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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[ERUREr= =2 i o
Options:

|y [RRINTEET HfET % AR O F Fehe w H T E

L x THRURIEEAT FE WIS 3R FE F Chipd F H vF Al iR g

3 ¥

el 97 RerE i 3af ¥ F9 AT @97 A3 STHAIC 9N d § AN A% Jeifadr &1 BT Y W@ &

4 B

fereiraeer dre & T == IRl 9 a0 W g, dHR SmEEn & 3w g e AR 3w A
Fr farefror ¢ @ &

Question Number : 180 Question Id : 16794318349 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Life skill education helps adolescents in/to:

Options:

; = Physical development, motor development and language development

> w Seftle into professional life

- » ldentify their strengths and weaknesses



4 « Build healthy relationships and manage their lives in a healthy and productive manner
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Question Number : 181 Question 1d : 16794318350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the objective of Adolescence Education Programme (AEP)?
Options:

, = Toprovide knowledge of appropriate behaviour and adjustment

T B
To provide accurate knowledge to students about process of growing up. HIV/AIDS and substance abuse

5 # 10 provide education and skill development

4 = Toprovide knowledge of physical change and body

Question Number : 181 Question Id : 16794318350 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 182 Question Id : 16794318351 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the guiding principle of adolescent education?

Options:

1% The programme should enable individuals to take part in educational debates and concerns

- w The programme should enable individuals to cope up with educational pressure

- % [The programme should cater to the professional choice and life of individuals



4 9
This programme should enable individuals to articulate their issues and know their rights, counter shame and fear, and
build up self esteem
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Question Number : 183 Question Id : 16794318352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following in physical games help improving mental abilities?
Options:

| % Wwarmup exercises

-  Running

- » Rules and techniques

4 % Proper diet

Question Number : 183 Question Id ;: 16794318352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 184 Question Id : 16794318353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Sports and games help in developing accuracy because it:

Options:
; = Inculcates good habits

- u Promotes mental hygiene

- » Emphasises on proper diet

4  Develops neuromuscular coordination

Question Number : 184 Question Id : 16794318353 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 185 Question Id : 16794318354 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is an example of rhythmic activities in physical sports?
Options:

1 % Karate



5  Gymnastics

- w Irekking

4 u Archery

Question Number : 185 Question Id : 16794318354 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

Question Number : 186 Question Id : 16794318355 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the intention of the Olympic games?

Options:

, « The struggle is more important than the triumph

-~ # The gold medal is the highest and should be achieved

- % Torank contesting countries

4 = Tomake people realize the importance of winning

Question Number : 186 Question Id : 16794318355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 187 Question Id : 16794318356 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the distance that needs to be covered in the Marathon event of the Olympic games?

Options:
1 % 41.195 mts

o % 43.195 mts
= o 42.195 mits

4 % 42,185 mts

Question Number : 187 Question Id : 16794318356 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 # 41.195 mts
> % 43.195 mis
=« 42.195 mis

4 % 42.185 mis

Question Number : 188 Question Id ;: 16794318357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is not true with regard to the ancient Olympic games?
Options:

1 % Women were not allowed to witness the event

-~ = All competitors took the oath



-  All countries participated in the event

4 = Men and boys participated in a naked form

Question Number : 188 Question Id : 16794318357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 189 Question 1d : 16794318358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The concept of Socially Useful Productive Work was introduced in the year:

Options:
, % 1986
> o 1977

5 % 1966

4 % 200

LA

Question Number : 189 Question Id : 16794318358 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

| = 1986

o 1977



- % 1966

, = 2005

Question Number : 190 Question Id : 16794318359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

One of the evaluation methods to evaluate work education is:
Options:

1 « Observation

5 % Essay type tests

5 u Slip test

4 = Half yearly tests

Question Number : 190 Question Id : 16794318359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 191 Question Id : 16794318360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following abilities is developed by taking an excursion in work experience
Options:

| « Ability to observe

-~ # Ability to enjoy



s w Ability to write

4 = Ability to see

Question Number : 191 Question Id : 16794318360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 192 Question Id ;: 16794318361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
“A teacher can never truly teach unless he is still learning himself.” Who said this?

Options:
1 % Mahatma Gandhi

-~ » Rama Moorthy

-  Rabindranath Tagore

4 #% Dr. Khothari

Question Number : 192 Question Id : 16794318361 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 193 Question Id : 16794318362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the full form of ITPD?
Options:

; = Indian Teacher Potential training Development

-  In-Service Teacher Professional Development

5 w In-Service Teacher Progress Development

4 = Inter-Service Teacher Progress Development

Question Number : 193 Question 1d : 16794318362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
1. #

sfeas & 9efrae efer 29o9#e / Indian Teacher Potential training Development

2
=7-mfeg d=T SR #999He / In-service Teacher Professional Development

2 % SA-FaT SRR 99 39o9HE / In-service Teacher Progress Development

i ser-gfay =T 99T 2999HE / Inter-service Teacher Progress Development

Question Number : 194 Question Id : 16794318363 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The Filtration Theory of Education is given by:

Options:
, « Macaulay



> #% Abbott
%z % Charles Wood

4 % Sargent

Question Number : 194 Question Id : 16794318363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 195 Question 1d : 16794318364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
National Adult Education Programme (NAEP) was launched in:

Options:
1 #% November 1978

> % December 1978
z « October 1978

4 R January 1978

Question Number : 195 Question Id : 16794318364 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TdT gl e FEEA (TEeed) Fu g% Oar mar ar?
Options:

| » FAFET 1978




- % feEeY 1978

_ ¥R 1978

, % SAEE 1978

Question Number : 196 Question Id : 16794318365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the highest level in Multi-level Planning Framework for community development in India?

Options:
1 % State

> o Nation
%z % District

4 w Village

Question Number : 196 Question Id : 16794318365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 197 Question Id : 16794318366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

*Alokar Jatra’® is associated with which of the below states?
Options:

1 % Andhra Pradesh

o o Assam



- w Rajasthan

4 = Gujarat

Question Number : 197 Question Id : 16794318366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 198 Question Id : 16794318367 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Who first defined the word “community™ as a group established
by men having shared values?
Options:
1 « Aristotle

- % Plato

- » Kautilya

4 % Khothari

Question Number : 198 Question Id : 16794318367 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 199 Question Id : 16794318368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which tree has a lot of significance in the tribal socioeconomic and cultural life and children?

Options:

, » DBaniyan tree

- = Peepal tree

= % Coconut tree

4 « Mahul tree

Question Number : 199 Question Id : 16794318368 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 200 Question Id : 16794318369 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the full form of NLM?
Options:

1 % National level mission

- % National learning mission



=  National literacy mission

4 % National low cost mission

Question Number : 200 Question Id : 16794318369 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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